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Each word problem is represented with an array of objects. Write an addition 

number sentence to match each array.

1)  Jason collected some rocks. He put them in 5 rows with 3 stones in each row.

     How many stones did Jason have altogether?

2)  Abby made 3 rows of 4 chairs. How many chairs did Abby use?

3)  There are 3 wires and 5 birds sitting on each of them. How many birds are

     there in all the three wires?

5 rows with three in each row.

Solution:

Solution:

Solution:

__ + __ + __ + __ + __ = ___.

__ + __ + __ = ___.

__ + __ + __ = ___.

Jason have ___ stones altogether.

Number of chairs that Abby used ___.

Number of birds on all the wires ___.

Solve word problems involving addition of equal groups in rows and columns.

__ rows of __.

__ rows of __.

ARRANGEMENT OF ROWS AND COLUMNS


